Anexos de código do MATLAB

QUESTÃO 3:
LETRA A:

function [MDA]=mediarit(M,bd,int)
if nargin < 3
    int=1;
    if nargin < 2
        bd=1;%tamanho da mascara é 2*bd+1=3
    end
end
for nn=1:int
[x,y]=size(M);
MM=zeros(x+2*bd,y+2*bd);mn=(2*bd+1)^2;
MM(bd+1:x+bd,bd+1:y+bd)=M;
Med=zeros(size(M));
for i=bd+1:x+bd
  for j=bd+1:y+bd
  Med(i-bd,j-bd)=sum(sum(MM(i-bd:i+bd,j-bd:j+bd)))/mn;
  end
end   
end
LETRA B:

function [MDG]=mediageo(M,bd,int)
if nargin < 3
    int=1;
    if nargin < 2
        bd=1;%tamanho da mascara é 2*bd+1=3
    end
end
for nn=1:int
[x,y]=size(M);num_el=x*y;
MM=zeros(x+2*bd,y+2*bd);mn=(2*bd+1)^2;
MM(bd+1:x+bd,bd+1:y+bd)=M;
Med=zeros(size(M));
for i=bd+1:x+bd
  for j=bd+1:y+bd
      Pmasq=prod(prod(MM(i-bd:i+bd,j-bd:j+bd)));
      Med(i-bd,j-bd)=Pmasq^(1/mn);
  end
end   
end
LETRA C:

function [MD]=mediana(M,bd,int)
if nargin < 3
    int=1;
    if nargin < 2
        bd=1;%tamanho da mascara é 2*bd+1=3
    end
end
for nn=1:int
[x,y]=size(M);
MM=zeros(x+2*bd,y+2*bd);MM(bd+1:x+bd,bd+1:y+bd)=M;
Med=zeros(size(M));
for i=bd+1:x+bd
  for j=bd+1:y+bd
  Med(i-bd,j-bd)=median(median(MM(i-bd:i+bd,j-bd:j+bd)));
  end
end   
end
LETRA D:

function [MA]=fpmed(M,bd,int)
if nargin < 3
    int=1;
    if nargin < 2
        bd=1;%
    end
end
for nn=1:int
[x,y]=size(M);
num_el=x*y;
MM=zeros(x+2*bd,y+2*bd);mn=(2*bd+1)^2;
MM(bd+1:x+bd,bd+1:y+bd)=M;
Med=zeros(size(M));masq=zeros(bd);
for i=bd+1:x+bd
  for j=bd+1:y+bd
      masq=MM(i-bd:i+bd,j-bd:j+bd);
      Med(i-bd,j-bd)=round((min(min(masq)) + max(max(masq)))/2);
  end
end   
end
QUESTÃO 5:

function M = contra_harmonica(imagein, Q)

    temp = size(imagein);

    M = temp(1);

    N = temp(2);%colunas

    imagein = [zeros(1,N);imagein];

    imagein = [imagein; zeros(1,N)];

    imagein = [imagein, zeros(M+2,1)];

    imagein = [zeros(M+2,1), imagein];    

    novaimagem = zeros(M,N); 

    imagein = double(imagein);

    if Q > 0

        for X = 2:M+1,

            for Y = 2:N+1,    

                 numerador = ((imagein(X,Y))^(Q+1) + (imagein(X+1,Y))^(Q+1) + (imagein(X-1,Y))^(Q+1) + (imagein(X,Y+1))^(Q+1) + (imagein(X,Y-1))^(Q+1) + (imagein(X+1,Y+1))^(Q+1) + (imagein(X+1,Y-1))^(Q+1)+ (imagein(X-1,Y+1))^(Q+1)+ (imagein(X-1,Y-1))^(Q+1) );

                denominador = ((imagein(X,Y))^(Q) + (imagein(X+1,Y))^(Q) + (imagein(X-1,Y))^(Q) + (imagein(X,Y+1))^(Q) + (imagein(X,Y-1))^(Q)+ (imagein(X+1,Y+1))^(Q) + (imagein(X+1,Y-1))^(Q) + (imagein(X-1,Y+1))^(Q)+ (imagein(X-1,Y-1))^(Q)  );

                if denominador ~= 0                 

                        novaimagem(X-1,Y-1) = numerador / denominador;                

                else

                    novaimagem(X-1,Y-1) = 0;

                end

            end

        end    

    else

        for X = 2:M+1,

            for Y = 2:N+1,    

                 numerador = ((imagein(X,Y))^(Q+1) + (imagein(X+1,Y))^(Q+1) + (imagein(X-1,Y))^(Q+1) + (imagein(X,Y+1))^(Q+1) + (imagein(X,Y-1))^(Q+1) + (imagein(X+1,Y+1))^(Q+1) + (imagein(X+1,Y-1))^(Q+1)+ (imagein(X-1,Y+1))^(Q+1)+ (imagein(X-1,Y-1))^(Q+1) );

                denominador = ((imagein(X,Y))^(Q) + (imagein(X+1,Y))^(Q) + (imagein(X-1,Y))^(Q) + (imagein(X,Y+1))^(Q) + (imagein(X,Y-1))^(Q)+ (imagein(X+1,Y+1))^(Q) + (imagein(X+1,Y-1))^(Q) + (imagein(X-1,Y+1))^(Q)+ (imagein(X-1,Y-1))^(Q)  );

                if  numerador ~= Inf &  denominador ~= Inf              

                        novaimagem(X-1,Y-1) = numerador / denominador;                

                else

                    novaimagem(X-1,Y-1) = 0;

                end

            end

        end

    end       

    M = im2uint8(mat2gray(novaimagem));
 QUESTÃO 6:

function out = mediana_adaptativo(in, s_max)

         [x y] = size(in);

         is s_max < 5

            s_max = 5;

         end

         for i = 1:x

             for j = 1:y

                 ready = 0;

                 s_xy = 5;

                 while ready = 0

                       if(i-int32(s_xy/2)) > 0 & (i+int32(s_xy/2)) < x &  j-int32(s_xy/2)) > 0 & (j+int32(s_xy/2)) < x

                            window = in(i-int32(s_xy/2):(i+int32(s_xy/2)),(j-int32(s_xy/2):(j+int32(s_xy/2));

                            z_min = double(min(min(window)));

                            z_max = double(max(max(window)));

                            z_med = double(median(median(window)));

                            z_xy = in(i,j);

                            A1 = z_med - z_min;

                            A2 = z_med - z_max;

                            if A1 > 0 & A2 < 0

                               B1 = z_xy - z_min;

                               B2 = z_xy - z_max;

                                   if B1 > 0 & B2 < 0

                                      out(i,j) = z_xy;

                                   else

                                       out(i,j) = z_med;

                                   end

                                   ready = 1;

                            else

                                s_xy = s_xy + 1;

                                if s_xy > s_max

                                   ready = 1;

                                   out(i,j) = z_xy;

                                end

                            end

                       else

                           ready = 1;

                           out(i,j) = in(i,j);

                       end

                 end

             end

         end

QUESTÃO 8:

function out = extracao_bordas(in)

    [x y] = size(in);

    for i=1:x

        for j=1:y

            if in(i,j) == 0

                A_B(i,j) = 0;

                continue

            else

                if i-1 > 1 & i+1 < x & j-1 > 1 & j+1 < y

                    if in(i-1,j-1) == 255 & in(i-1,j) == 255 & in(i-1,j+1) == 255 & in(i,j-1) == 255 & in(i,j) == 255 & in(i,j+1) == 255 & in(i+1,j-1) == 255 & in(i+1,j) == 255 & in(i+1,j+1) == 255

                        A_B(i,j) = 255;

                    else

                        A_B(i,j) = 0;

                    end

                else

                    A_B(i,j) = 0;

                end

            end

        end

    end

    A_B = uint8(A_B);

    out = in - A    

